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Problem from Section 5.4

6. (V)1 =330

Problem from Section 6.1

8. There are 16 cards that qualify as being an ace or a heart, so the answer is 16/52 = 4/13 ~ 0.31. We couid
also compute this from Theorem 2 as 4/52 + 13752 — 1/52.

8. We saw in Example 11 of Section 5.3 that there are C'(52,5) possible poker hands, amd we assume by symmetry
that they are all equally likely. In order to solve this problem, we need to compute the number of poker hands
tHiat contain the ace of hearts. There is no choice about choosing the ace of hearts, To form the rest of the

hand, we need to choose 4 cards from the 51 remaining cards, so there are C'{51,4) hands containing the ace
of hearts. Therefore the answer to the question is the ratio
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by subtracting from 1 the answer to Exercise 9, since a b
and ouly if it is not the case that it does not contain the ace of liearts.

The problem can also he done

and contains the ace
of heasts jf

1. We W in Example 11 of Section 5.3 that there are C(52,5) = 2.508.060 different hands, and we assune

i SYlmetry that they are all equally likelv. We need to count the number of hands that have 5 diffiel'ent
. he > all e A X o o choose
indg (ranks). There are C(13.5) ways to choose the kinds, For each card, there are then 1 ways mb(. 1-]I 00‘1
e it Therefore there are (7'{13.5) - 4% = 1,317,888 ways to choose the hand. Thus the probability is
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317838 /2598060 2112/4165 ~ 0.51.

24. In each case, if the numbers are chose

u from the integers from 1 to 1, the
only one of which is the w

inning one, so the answer is 1/Cn, 6y,
a) 1/C(30,6) = 17593775 = 1.7 x 10-6 b} 1/C(36,6) = 1/1947792

€} 1/C(42,6) = 1/5245786 = 1.9 x 1)~7 d) 1/C(48,6) = 171227151

n there are C(a, 6) puossible Chtrl,

=01 x 107
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2= 8.1 x 1078

32. The number of ways for the drawing to turn out is 100 - 9998, The number of w

to cause Kumar, Janice, and Pedro each to Wil a prizeis 3-2.1 (
win first prize, two w

ays of ways for the drawing
three ways for oue of these to he picked to

ays for one of the others to win second prize. one way for the third to win third prizel.
Therefore the probability we seck is (3-2-1)/(100-99.98) = 1/161700.,




